ot £, et
N L

= B ¥ mim TR R AT | HeAE

FUE | EE| L s 2 T S A
d L L L ¢ d W ¢ D B r Pk Cs  Cea

gre | JIS 28 4 +0.3 () h8 0.1 6 | kef | ket ket

ABS 5 14 | M 5X0.8 5 27.5 19 8 8 9 7 11.112C%hs) 16 6 0.5 50° 210 640 240
ABS 6 20 | M 6X1 6 33.523.8 88 11 10 8 12.7 () 18 6.750.5| 50° 330 830 310
ABS 8 40 [M8x1.25 8 41 28,6 11.6 12 12 10 15.875(4) 22 9 0.5} 50° 590 | 1450 600
ABS 10 68 | M10X1.25 10 49 342 14,2 15 14 11 19.05 (%) 26 10.5 0.5| 50° 940 | 2050 850
hl-\_BS 10B 70 | M10X1.5 10 55 40.2 142 21 14 11 19.05 (%) 26 10.5 0.5| 50° 940 | 2050 850
ABS 12 106 | M12x1.25 12 55.1 38.1 15.1 17 19 17 22.225(%) 30 12 0.5| 50°| 1440 | 2790 1140
ABS12B || 110 | M12X1.75 12 62.1 45.1 15.1 24 19 17 22.225(%) 30 12 0.5| 50° | 1440 | 2790 1140
ABS 14 165 | M14Xx1,5 14 70.7 51.3 16.8 22 19 17 25.4 (1) 34 13.5 0.5| 40°| 2020 | 3650 1470
ABS 14B | 170 | M14X2 14 76.7 57.3 16.8 28 139 17 25.4 (1) 34 13.5 0.5] 40°| 2020 [ 3650 1470
ABS 16 236 | M16X1.5 16 76.3 54.5 18 23 22 19 28.575(1%) 38 15 0.5| 40°| 2740 | 4600 1850
ABS 16B || 240 | M16X2 16 82.3 60.5 18 29 22 19 28.575(1%) 38 15 0.5| 40°| 2740 | 4600 1850

L. Shig R WEAE S (POL92ER)
Rty v > 7 L BRAEENEE Hv6b50L
v r 78 S35C
(B o X — b ALE)
2K & %
Z Y7V
T EY TN
IHEEIIDH
SR ZMATE M8, N8
mhEAR A H10
4 FREEE I TRHOHAOMESRL &7,

0.02~0.08mm
0.25mm AT

5. BUfT 135

THO X ITEDIRO 7 Z 7 » M,
WO T EMTEET,

HEGIZ) 7R EOTHERAOCA 47 207 E L TH
HTtxx7,

U7

m
) A
~ B
23
A
Y%

T

)

.._I,_
8o
=

527



